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011AE 20IAh LBHS|H FOIMBRAD ~ FOIMEX
S FOIMER D
ol GRZA 245
S GESASS X8 (25l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
Z=0IM S X Dt 16,077,658 7,167,827 ~1,090, 169
= 7,052,185
= 1,135,853
2 7,444,087
= 445,533
RRASA B 149,346 129,771 19,575
= 25,741
= 21,724
2 101,881
RNRABAES N 149,346 129,771 19,575
= 25,741
= 21,724
2 101,881
X =A ROUO0IE X2 34,016 30,471 3,545
= 17,008
= 8,504
2 8,504
101 2121l 34,016 30,471 3,545
= 17,008
= 8,504
2 8,504
04 JAMZRIISES 34,016 30,471 3,545
OXRZ A ZCILIOIE Q1248 (2%) 34,016
—BCIUI0IE 21218l (2 27,000
= 13,500
= 6,750
2 6,750
—404 2EE 4,800
= 2,400
= 1,200
2 1,200
—Ex3 2,216
= 1,108
= 554
= 554
RAZAMT 2B K 7,466 7,500 9,966
= 8,733
= 2,620
2 6,113
307 QI2H0|H 17,466 7,500 9,966
= 8,733
= 2,620
= 6,113
06 283 17,466 7,500 9,966
ORYASAT BHE N 17,466
= 8,733
= 2,620
2 6,113
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IR E SN
TRAZ A 25
NASAES X
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20
B
2

TR ZA 2E3 N 20,000 30,000 10,000
= 10,000
= 10,000
307 QI2H0IF 20,000 30,000 A10,000
< 10,000
= 10,000
02 QIAAMEE 20,000 30,000 10,000
OXAEAE s 29 X 20,000
= 10,000
= 10,000
RASAR K0T 1,200 2,400 A 1,200
= 600
z 600
301 LR A 1,200 2,400 A 1,200
= 600
= 600
10 BAFAIHI 2 A S 1,200 2,400 A 1,200
ORI SAR S+ K(40%) 30,0008 =40 1,200
= 600
= 600
TR ZAHE 2 65,924 39,260 26,664
101 Q1248| 35,764 0 35,764
04 JAMZENS B4 35,764 0 35,764
ORI ZAMIEIE Q121 35,764
—dET oIty 2,380, 0002 * 12 * 122 28,560
—4 B8R 402,002+ 1+ 128 4,824
—gxz 2,380,0002 1% 2,380
201 Yer2ey| 8,660 11,360 A2,700
01 Ar22elt| 5,960 8,160 A2,200
OETEIER =T 3,300
—HARY ADE 300,00021 30 900
—2Z 2 SAZS WE 40,0002 «105+63] 2,400
ONAZASLRE A2
70,0008 %1024 x25] 1,400
OXBSAYREE S 7,0002 +3+602 1,260
02 BZ2YY| 2,700 3,200 A500
ONE YIS (LEME) 200
OXttMety(ZCwl) 2,500
202 OiH| 1,500 1,500 0
01 2U0tHl 1,500 1,500 0
ORI S A U 22| K&
20,0008 *3% *252 1,500
206 T2 H 20,000 0 20,000
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SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
01 HEHl 20,000 0 20,000
OOAS M REZALES THZH| 20,000
REZA A2 10,740 11,740 A1,000
301 LBAI 6,240 7,240 A1,000
10 BAHI 243 6,240 7,240 A1,000
ORI ZAXE AlHI A 6,240
~HENASAR DS BAHL
70,0002 62 x23] 840
—~TESASS K A2
10,0002 +30% +103] 3,000
—TESAR 43 L SOHE] FABA
30,0002 x40 *23] 2,400
307 QI2H0|H 4,500 4,500 0
04 DIZIES AR 4,500 4,500 0
ORI43] dol2 RRZAR 20+S (3] 4,500
—BAEE L BUIAX  1,000,0002 435 3,000
—NHSARBX B 200,000 +5% 1,000
—A ZE(H4Y, OS2, BD S) 500
20p2E el ¥ N 788,650 828,000 39,350
= 650
2 635,000
= 153,000
SECH L A XS 788,650 828,000 £39,350
= 650
2 635,000
= 153,000
HEY WA N 5,800 5,800 0
201 LByl 2,500 2,500 0
03 A2 | 2,500 2,500 0
0A2E ¢ 50,0002 %105 500
OomE 7Y 40,0009 +50% 2,000
01 LB AZ 3,300 3,300 0
10 BAAEI B4 S 3,300 3,300 0
OREINE BNBA 10,0002 *300% 3,000
OB EY HHBY 10,0002 *30% 300
SR Y OIS X8 60,500 515,700 455,200
2 33,500
= 27,000
201 LByl 4,000 4,000 0
03 A2 | 4,000 4,000 0
OSEHH XX =2 ITUR 4,000
01 LsrE A 5,000 7,200 A2,200
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2 20,000
= 27,000
01 Al&H] 47,000 0 47,000
Omor2t, 2 A&HM 47,000
2 20,000
g 27,000
SYRITN 2X 2 1,950 2,600 A650
= 650
2 1,300
01 LerE A 1,950 2,600 A650
= 650
2 1,300
12 DB A3 1,950 2,600 £650
OSYRTX X2l N
150,0008 %13 #13] 1,950
= 650
= 1,300
6.5 R2X +Y ¥ =22 X 642,000 212,000 430,000
2 516,000
= 126,000
01 LstE A 212,000 212,000 0
01 AISIRH= 2623 212,000 212,000 0
OB.5HHRZN 22 L 923 X 212,000
(U=, 20,0002 +850% » 12 204,000
R 8.000
401 Al&HIL = O] 430,000 0 430,000
2 304,000
= 126,000
01 Al&H] 430,000 0 430,000
O6.258 W R BRI 248 430,000
2 304,000
= 126,000
MEISHEES N 67,000 63,000 4,000
307 I2H0IH 67,000 63,000 4,000
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SAM: FoMEX R
B FHoS e
el =X 29 (el a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 18,000
—Zel At Il=y s #¢ 600,000& *x53| 3,000
= 3,000
OYdxz(d8=2X2 S 2Ash) 700,000 *23] 1,400
2 700
= 700
02 3294l 97,800 77,584 20,216
OFE A =X S22d9H| 97,800
—322=2 2 HA 203 41,800
= 41,800
— A EHHI KX HI| 56,000
= 56,000
03 #HAI2SEHI 5,000 5,000 0
O=2X&2dA e & ZAxE  200,000& *x253] 5,000
= 5,000
401 AlEHI Y20 45,000 60,000 A 15,000
= 45,000
01 Al&HI 45,000 60,000 A 15,000
OFEAIZ 2R “FAIE W&
15,000,000& *3& 45,000
= 45,000
405 KHAFF SHI 12,000 30,000 A 18,000
= 12,000
01 Mt = EF SHI 12,000 30,000 A 18,000
OHl& & &Hl s #¢ 2,000,000& *63] 12,000
= 12,000
HEX g2 2HAA 210,000 163,040 46,960
201 L2yl 35,000 23,040 1,960
02 ss2494l 35,000 23,040 11,960
O3322 % HASI=2 5,000,000 74 2 35,000
401 AIEHBIYL 20| 165,000 110,000 55,000
01 Al&HI 165,000 110,000 55,000
OLNH=Xg2 S8 S MM 80,000
O&dHET I SAESE 10,000
OSSEC 0|2 HOYAIE HA
15,000, 000& *3JH A~ 45,000
OHEXF2 R 5,000,000 *6H A~ 30,000
405 XHAFF SHI 10,000 30,000 20,000
01 XA 2 EF SH| 10,000 30,000 A 20,000
OH=X3g 2 &yl+ 5,000, 0003 *2JH A~ 10,000
JNRS-PNE=IE==DN 511,745 364,733 147,012
= 154,197
= 22,900




SN FEOIMEX D

Mz F o
Sl MSAE =X Ea s (S5 &)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 334,648
NSAMSIZSXEOH 2 L AKX 78,028 72,192 5,836
307 21201 78,028 72,192 5,836
02 PIABAEE 51,028 65, 192 A14,164
OXNMSIZXEAH 2 51,028
—=XEH 2| 1,300,0002 122 15,600
—A2UAF QB 2,018,960 < 1Y 122 24,228
—=XEAMAY FIS MW 4,000
—7THED SYAY (RS MOIL S)
600, 0002 774 = 2t 4,200
—AEI=XSD 2 3,000
04 BIZISAIEE 27,000 7,000 20,000
ORI43 224 ABI=X BH0IY A 7,000
— AFEI= I 1S # A 5,000
— 2N 200,000% *5 % 1,000
—NESXSIN EH M
100,000 *10% 1,000
OSXEAMAAY, ANLSAT 2HS ST
218} 2,000,0002 +10% 20,000
KIS AME NI A SA (XIS HL S-SR BSO0LS) 19,297 35,971 A16,674
= 15,437
= 1,930
2 1,930
307 QI2H0IH 19,297 35,971 ~16,674
= 15,437
= 1,930
= 1,930
05 PI2tSIEt3 19,297 35,971 £16,674
OHIZHSH BSOS 19,297
= 15,437
= 1,930
2 1,930
NEPE VT EESES OVETONERSET- RPN 52,900 42,950 9,950
= 42,320
= 5,290
2 5,290
307 Q20| H 52,900 42,950 9,950
= 42,320
= 5,290
2 5,290
05 PIZteIEr2 52,900 42,950 9,950
OFst® 01S 264, 5002 *200% 52,900
=2 42,320
= 5,290
2 5,290




SN FEOIMEX D

M F o
el NIAISI =X EA 5 (e @8
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 ggi B2
KASI HHIA SXAF (REAIRE) 116,800 0 116,800
= 93,440
= 11,680
2 1,680
307 2120/ H 116,800 0 116,800
=2 93,440
= 1,680
2 11,680
05 QI2t9IErz 116,800 0 116,800
O stots 116,800
=2 93,440
= 1,680
2 11,680
KIS AL S A HIA S TEAL (22HI) 3,000 0 3,000
= 3,000
201 Yer2g| 2,600 0 2,600
= 2,600
01 Attt 2,600 0 2,600
OAg2Yy =2 2,600
= 2,600
301 YBrBAZ 400 0 400
= 400
10 SAFAIHI A 400 0 400
ORZIIZ 2S0iH| 400
= 400
B4 X2 187,500 200,000 ~12,500
= 4,000
2 183,500
301 YsrPAS 187,500 200,000 £12,500
= 4,000
2 183,500
01 A B X253 187,500 200,000 A12,500
OBNEAS N 187,500
—SMFS(RMO) 300,000 *70% 21,000
—EMFAS(SMOL) 1,000,000 +75% 75,000
—SAFAZ(AMOL) 91,500
= 4,000
2 87,500
Soux 54,220 10,620 43,600
201 Yer2g| 46,820 6,820 40,000
01 Attt 46,820 6,820 40,000
O 75 BIZ2X 2 100,0008 %154 € 1,500
OSY=SXNCYME MAT28 I 40,000
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Mo ot
SRl XLHAEI =X 24535 (9 E2
M- ®=Z . Che (5 NEAY . B2 Al OH HEE Hl =2+
OXNEAM=SXNEAM HF&=H
70,0003 x19Z x43| 5,320
203 R F&d| 3,800 3,800 0
03 AIMFAZRFAH| 3,800 3,800 0
OZQIME MR =2 3,800
301 L2 AZ 3,600 0 3,600
10 At HIEa =3 3,600 0 3,600
O MEHAD| 2=HE, OI0IEI|l E2AM 4,
MZUTMHS AZF EHA20,0002 *30H «63] 3,600
oty = 514,684 529,070 A 14,386
= 129,882
& 21,325
= 363,477
Aol HADI 130,000 180,000 A50,000
402 QI2H X201 A 130,000 180,000 250,000
01 SIZtGEEZ 130,000 180,000 A50,000
OAMES BRI 130,000
—66m Ol & 50,000,000& 1= 50,000
—66m 0I5t 30,000,000& 1= 30,000
—Fel(aEy, 2, 1L)
5,000,000& x10= 50,000
119 3|9 & 2= 20,000 10,000 10,000
& 10,000
= 10,000
402 QI2t X =01A 20,000 10,000 10,000
& 10,000
= 10,000
01 QI GEEX 20,000 10,000 10,000
Oo19 slze & B3 20,000,000 * 1Al CH 20,000
& 10,000
= 10,000
Hed2 HS ®I& 76,000 76,000 0
301 LEtEAZ 76,000 76,000 0
01 MIE2EEE =63 76,000 76,000 0
OMASE Hed2HS |z 60,000
OAtsI=XAE 22 20,000 4009 x23| 16,000
M SXSEAMEA 8223 XA 71,438 69,898 1,540
= 35,719
= 35,719
101 2144l 71,438 69,898 1,540
= 35,719
= 35,719
04 JI2ZtMZ22XSE+ 71,438 69,898 1,540




SN EOIMB A D
o HorE X
Sl ABIIEY RS (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
ON=TESAHIA H2d Kd 71,438
— o121y 66,420
2 33,210
2 33,210
—E183 5,018
2 2,509
2 2,509
STENFLHA K (AR A 7,126 0 7,126
2 3,563
2 3,563
301 YsrE a3 7,126 0 7,126
2 3,563
2 3,563
01 ABIBZEAH 3 7,126 0 7.126
ORI 2l ARt 7,126
2 3,563
2 3,563
AZ=x 113,250 116,992 £3,742
2 90,600
= 11,325
2 11,305
301 LB 113,250 116,992 A3,742
2 90,600
= 11,305
2 11,305
01 ABIBZEAH 3 113,250 116,992 £3,742
OAS =X (75%) 113,250
2 90,600
= 11,305
2 11,305
MHDUR X2 50,000 30,000 20,000
301 LB 50,000 30,000 20,000
01 ABIBZEA6 3 50,000 30,000 20,000
OMEE MHIR X 50,000
e X X2 1,050 900 150
01 YsrE A3 1,050 900 150
01 ABIEHEAH 3 1,050 900 150
O#eAR 7 01| 30,0002 x35% 1,050
HASS AULHE L FIIQYLH2 A 36,720 34,680 2,040
301 YPBAS 36,720 34,680 2,040
01 ASIBHE462 36,720 34,680 2,040
ONASE 2YRHE L HIIQYLHE XL
3,40021%9002) 122 36,720
Sgx 9,100 10,600 A1,500
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SN EOIME XA D
M3 DO FMBEE
el DI ZME YR (el @)
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl &+ 04 Sl ko HRs2
—Z X HIZ 20,0003 605 1,200
—QIEY ZHEAH M 10, 000& *300H 300
OMEIXAS BALY 70,0008 <5 +43] 1,400
OUsts MEY 2508 It 500
301 et2 4= 1,070 1,070 0
10 ALAHIE &= 1,070 1,070 0
OUER HOIX 24 1,070
—dEY FHA 24 35,0003 30 1,050
—ol#x 28 20
MAsE NHEARA 1,008,861 1,514,440 A415,579
= 756,900
= 163,381
= 178,580
FHE=E=0W =2l 120,000 120,000 0
= 96,000
& 12,000
= 12,000
402 PIAT RO 120,000 20,000 0
= 96,000
= 12,000
2 2,000
02 ©12HCH 8 ARl 120,000 20,000 0
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